LAMBP.

A\ EREOTER \
- ARICEETPEOHD D BEH COTHERIFBLEDH < FZE L,
- EETB/0—Y—CLoTld. TENRELID. BED

a. 7fRE

L TERRGER

ER{FIE

1. BaD&LSICRUAN—ELETHRR (BEhiFA) RUZEAL. TERE

HES ZRTAEMGHENEUTE
HES3D-190% H{13HAE

CDUFEHREZE CHAVCIEE, HSDhHESTEN

ER=RTU—LALICHIFET,

2. T&AN (LAMPOIEM) ZEDEIANIC. N—RTU—L%Z#%
DIBANICE Uiddr, (HBOTFIIIARUTEELE T,

3. BbD&KSICLAIETRIOTERFDEEZEOETNS. FEHSL
FCT. ERIETROTEAFZRRICN—ZATL—LDORFTZELRA

P <> FEARU
R_UAI—
L TEERGEN z >

BLEoED., EHEDESEN b T BEEHHDHE
I, EBFICTHERLEEL,.

- AMyIN—tEQIO—Y—%FRTDIEH. HTEHD
(RfS. B ZHALTLLEESVL. BFHEbE. yO0—H—

*9, DA BYIN—EKDEICHEDMABET. EOFILKDFELAEIC HET, ﬁﬂ:&%ﬁglcckD_ED‘-E%E"J[CM‘{EUle%ﬁfl\'ﬂia'o
HHELR CARE < BEHDL. FELLERDAHTL DO HFTLIEEL, 4. BIFIET TH U L TRAR (BiHFRA) RQUERDMIT. [MED/A

- FICHSTO DD, FREAENRBENTLE VN, TH AT ClRIAOL. FLEREFRIGEH ST

Jfsrai AN e
WO fHHME. ABEVDTEHRMDHEDKSRELTL DIRT SRRALEOET. ) ) ANER “ )
el - ERTOERNICERUDEHDEODHEEL T EEL, - R=2TU—LICEBEEDEDETDT, N—2 T L—LEHRDIFA
c=rE ~ g [CEUATHIC, TEAGFEN—RTU—LERFEDET, TEXEN
o 2 R=2TU—LORETADHEIEFACREICHIBERRLTHSZ
E B0 E DBETR—R T U—LEROIBARICRD T ZE L,
ELTE oF MENEESTNDE., EIHEENEIEN L, ROEEOTEE A,
i . - FERICRETREALICD . FEEAZEMZENTREV, BHIANT
T TFIWNIIARUFT4.8X25)  8&xaty k S VAR - L7, LK b. EEISE | IrET AN SO ET, )
. /\?EX/_\T(UEFUQ 17K Py 6. | /R=2TL—1 :2170»
o N TR e [ FHUEREEIE
- ISHEE) 1% zamens Qg [@€ s @ OFIERE LU LBEAN ABRC. —AAFOToTIR
o @ (2277f) ) ! &L,
LS B j@ﬂ_ @l | 2 1. LFrRoRE
- = Bl P 2Bl : ‘j TR (BB R U R BONEER ) F T—EESED TRD
= —— ' ' L TUBREREIT\WE Y. FRERNS LIFTREZ D, EEES(C
HES3D-190SL 2= — - BEUT TV, ETOMBRER (B0 EER) S TLTHE
HES3D-1906L J—ILK L i BEHIER) R EREICHD T EEL,
I ]l 888 1 g 2. FiEHROEE
BISHELE ‘ N 9 FIEAER U ZMBDO/NEER/\F T—EESHED T, EOFIEME
| prsaE . BEEFTVET. EEMZICEN L TEYEMEBICHRL TS
BAREE 70kg(2fEELY). 90ke(3MEfELY) —T— (25 ] W BIEOMIERRES(CHBONEER) (T THI%ERR U EREC
. , FHTLIREW,
= > nuad .
e 36mmilE L@J BT | LRI ‘j ANE=
A TE900MMIUT X §&2400mmIUT FA)RU ~ = -
{@£® © (257) - FTREGEBRM L S ATSHERER ORI MUY (4.9N-m(50kef-
. © cm)TY,
sRE PN - ARQUEREAN » BESACREIORETOSAETLEY. | | . aig@sa R aamlT REL., BIINTIINET SN
ETAmE +3mm Iﬁﬁ PO
ERAE +3mm. —2mm i m i L& 3. E6AEOHE
A +1mm — ‘ L TR GRBIR) HBOAEER/\F TEARERLEZBLT. ROEGNBRERET
= VT, AHMEICET ERTORERORBDAEED, EAHEIC
BRI TE Al RL BT LRGSO FT, EERRRL (1DOTEIC25) &
= & o ZNZNA LT OE LEEIIEICHR L T RE L,
E T T P
A:Io% BefHl Al EEERL . r A;IE ~N
. %%gﬂwﬁtWUD%E‘B(CC]L){J:iTCIKR1L)U:0) O TR LE o7 OFRIN L B %Eﬁ]ﬁ(ﬁﬂﬁiﬁﬂ) - EARRE. EERERUODOTEIC2sMZZNZENANLFDEUL
MTERLT < FEE0 =30+ 10 spyF.goe o2 BV TLREV, AADRURDZRBICET L TENRIET ZRRE D
cov BRI $7. Flo. 2 FOEERRNALRACHERECEDESICLT 2
— - . i PRV Lo BEBNELDFT LRBOTFEAORREEDET,
6-R6 - - EERERURESEICE L T3mMmULEHE N TL EEW, LN
) 7 | CODETRTREDBDET, )
‘ 8-R6 || | OB&(CRLHN—ENRETERTY . RUN/\—EEOAREEH
" 1 BRBEQUCHEHET, MUARLTLREL,
ST =32+ T s 11 2 H S 41— €
R / 2 2 f 8 s
ok 5
¥ U ‘ ‘ =y N £ » = R
m/’, — | | ARMICEHTDHTER - CHEKIE. BELKOWVEWERSEE. FE T 0ZEOICBELLTELE T,
o ‘ | _ =
» . uy J ul J 7-*¥7s -+ BEES 03(3864) 1122 SU(.3ATSIIINE AHYRTE
s 30 2l A~%F 9:00~17:30 (k- BERRBSERH) LAMBIOf 871> 21—
AR HEEH FAX 03(3863)6875 -
Egﬁﬁ E-mail : support@sugatsune.co.jp ISO 9001(JSAQ384) - 1ISO014001(JSAES97) BEEELR

ISO900 1: EWEHA ¥IS014001: FREKM TRIS LU WHRES NHt>5—
http://www.sugatsune.co.jp/

2013.12 PRINTED IN JAPAN 0339-6

RERBFRBEXEXHE2-5-10 T101-0032

SUGATSUNE



(LAMP N ~/A\WARNINGS 2 a. DEAL DRAWING INSTALLATION PROCESS
® . . . . .
Do not install hinge in exposed location; i.e., exposed to Remove screw cover and vertical adjustment screw from
HES INSTALLATION MANUAL rain or snow. _ o _ ‘)jl/gjr&iscteirl1 ot sorew hinge body. Separate door side leaf and base frame. Repeat
FOR HES3D-190 CONCEALED HINGE Before installing hinges in conJunc.t|.on ywth an.automatlc . M process for remaining hinge.
door closer, check that door specifications suit both the e @ Install door side leaf into the bored hole of the door with
(3-DIMENSIONAL ADJUSTABLE HINGE) automatic door closer and hinges. Zﬁiﬁ‘ém f installation screws (Flat head M4.8 X 25). Then, with screws,
- < Openlng/closmg with excessive force may cause : install the base frame into the bored hole of the door frame.
. . malfunction. _ _ _ Main body ¥ Base frame Repeat process for remaining hinge.
Read all instructions carefully for proper use. After completed installation, occasionally check that Refer to Figure B. Temporarily hang the door by inserting both
_Screws remain fixed tightly. ) upper and lower main hinge bodies into the upper and lower
base frames at the same time. The door will be temporarily
COMPONENT PARTS HINGE PARTS held in place by the easy installation function.
+ CONCEALED HINGE 2 pcs Insert vertical adjustment screws (removed in Step 1) into
- Flat Head Screw (M4.8 X 25) 8 pcs X2 sets vertical adjustment holes. With a hex key (M4), loosely fasten
- Hex Key (Nominal M4) 1 pc screws to temporarily hold frame side leaf in place.
- Template 1 pc Fgats/hﬁ%d;crew hole /\Caution
. INSTALLATION MANUAL Mainbody - 3015 32 - $5.5/10. P b. INSTALLATIONS DOOR Make sure the base frame will be set firmly in the proper direction
<14~ ~16~ Base frame ~=10 before installing into the bored hole of the frame.
ITEM NO. / FINISH g&ﬂémgr'n \ @ l N b l fszV ; — Do not open/close door with excessive force, or door may fall.
scre A ) crew cover
ITEM NO. FINISH serew © T S f
(CAVR) g
HES3D-190SL Silver S é ADJUSTMENTS
HES3D-190GL Gold oot :||Frafme S — l‘ Make adjustments in each (vertical and backward/forward)
; : ea C - direction.
DOOR SPECIFICATIONS Vertical adjustment
Door . . . .
70kg(154Ibs) oad J Frame Using hex key .(M4), Ioosen.verncal adjgstmeqt screw just one
Recommended door dimensions i B I T | 2! fBaCkW;rd/* 3 turn. Temporarily hold door in place during adjustment of door
. orwar i i i i i
Maxi Door Weidht - (2 hinges per door): | adjustment & height by inserting a plece of wood in gap petween flgor and
aximum boor Veignt : 90kg(198Ibs) ‘ screw 3 bottom of door. Then tighten screws. Fastening torque is 4.9N-
Recommended door dimensions , m (S0kgf-cm).
(8 hinges per door): Vg.”iﬁa' X gj Backward/forward adjustment
adjustmen " . . .
Minimum Door Thickness 36mm (1-7/16") screw - toos;n bil/clzéll(waArd./forw:rd adjusilt_r:ent .sc;]rew just one ’;Jrn us!ng
Maximum Door Height - 2400mm (94") ex ey( ). Adjust the door. Then tighten screws. Fastening
. , - torque is 4.9N-m (50kgf-cm).
Maximum Door Width : 900mm (367) — ADJUSTMENTS /\Cauti
aution
ADJUSTMENTS ckward ~_Forward To prevent door from falling, do not remove backward/forward
- A adjustment screw.
Vertical adjustment +3mm L L Up
Horizontal adjustment +3mm, —2mm Left Vertical adjustment screw . )
Backward / forward Right Backward/forward Horizontal adjustment
adjustment +1mm ,, _adjustment screw To widen the gap between door and door frame (on the hinged
R Door side of door), turn the horizontal adjustment screw in clockwise
INSTALLATION DRAWING . . Horizontal own Frame direction. (Maximum adjustment is 3 mm). To narrow the gap,
/N\Caution .gored _f:ioltla dl;awmg for QfBored h_t:lle Idrz;Wlng for adjustment screw, Vertical adjustment screw turn the screw in counter clockwise direction.
. oor side leafgram rame side lea .
Round sharp edges of door and frame by applyin o7 Backward/f d
1h 1 and over” or ‘A ) (Foter 6 o M TEE Wi T2 Beckardonar /N\Caution
cuts with “C1 and over” or “R1 and over.” (Refer to 4 mm 5mm Horizontal Gently turn adjustment screws, alternating from one screw to the
“sk”in the drawing.) adjustment screw other and back again. Do not force turning of screws.
) e B ) ] Do not loosen adjustment screw (Maximum adjustment is 3mm) in
Door Eﬁrggorr\oslsj grlz\gfmg 8-R6 ,_F — clockwise direction, or door may fall.
; Bored hole drawi :
gﬂmm*urin*%* Er%c:; . forframe Side loat) ‘ 8-R6 ! Finally, replace screw cover.
Bored hole drawing Door Frame ! !
for frame side Ifflt\ ,,7*7,, ‘83_, i %‘E 777*7” ‘g:j i ‘S’I
*cv\' Vau - | Doc‘)r
L — (= Frame SUGATSUNE KOGYO CO.LTD.  SUGATSUNE KOGYO (UK)LTD. = SUGATSUNE AMERICA, INC.  SUGATSUNE SHANGHAI CO., LTD.
Dy 7 ! 1 ‘ Phone: +81 3 3866 2260 Phone: +44 118 9272 955 Phone: +1 310 329 6373 Phone: +86 21 3632 1858
* Door ‘ ‘ \_l_, | | F a x : +81 33866 4447 F a x : +44 118 9272 871 F a x : +1310329 0819 F a x : +86 21 3632 1868
Maximum 4 mm —}~-30- ; ! | J ‘ J E-mail: export@sugatsune.co.jp E-mail: sales@sugatsune.co.uk E-mail: sales@sugatsune.com E-mail: lamp@sugatsune.com.cn
Bored hole drawing ‘ \f‘/ \L/ Website: www.sugatsune-intl.com Website: www.sugatsune.co.uk Website: www.sugatsune.com Website: www.sugatsune.com.cn
for door side leaf

. | 1SO9001(Japan Offices and Sugatsune America) and 1ISO14001(Chiba Production division and Logistics center), certified.
Bored hole drawing Bored hole drawing
for door side leaf for frame side leaf

SUGATSUNE



